2020 E W N T AR EIKBRBEAT (F—HEX)

EEHS Fha RN LG | FREL AR MR B 2GR | MAESG | EXERS | REE MRS | T50HR
103160211002701 | FE3CEF 025200 N A%t Ex=k] 404 200.86 604.86
103160211001278 | &z 025200 N Agit Eal=k 400 190.29 590.29
103160211002711 | FMEE 025200 I an Ex=k] 386 186.57 572.57
103160211004153 | ASE 025200 N A%t Ex=k] 367 196.57 563.57
103160211005538 | FZ 8k 025200 N A%t E=kdl 396 167.43 563.43
103160211003040 | EFHE 025200 N Agt Ex=k] 371 186.29 557.29
103160211003632 |  Z=5% 025200 N A%t Ex=k] 376 175.43 551.43
103160211002720 | 3k 025200 N A%t Ex=k] 364 182.86 546.86
103160211002705 | &F= 025200 N A%t Ex=k] 349 191.14 540.14
103160211005531 | A k& 025200 N A%t Ex=k] 343 193.14 536.14
103160211004292 | 1% %& 025200 N Agit Ex=k] 359 176.86 535.86
103160211003824 | iF{EER 025200 N A%t Ex=k] 344 179.14 523.14
103160211002889 | XAZE 086000 T MEEY EMHI TR Ex=kdl 371 198.8 569.8
103160211004227 | FhEZAR 086000 H=HEEY £t TR £ H 354 210 564
103160211002897 | RE#f 086000 T MEEY EMHI TR Ex=kdl 352 201.2 553.2
103160211002779 | #HEH 086000 HMEEY EYHI TR Ex=kdl 356 188.8 544.8
103160211002746 | PRZR 086000 TMEEY EYHI TR E=k 339 196 535
103160211002874 | &R~ 086000 TMEEY EYHI TR Ex=kdl 329 196.8 525.8
103160211002848 | Rfthiz 086000 HMEEY EMHITIR Ex=kdl 327 192.4 519.4
103160211002805 | Xkt 086000 E=YEEY £t TR Eal=kl 327 191.2 518.2




EEGHS ZEHE | WEMETWE| #RRELER MR B FI7R | RS | ERERS | RERS | Tt
103160211002896 | & 086000 TMEEY EYHI TR Eg=ki 324 181.6 505.6
103160211002847 | REZ 086000 H=HEEY £t TR Eal=kl 294 199.2 4932
103160211002880 | K'X= 086000 H=HEEY £t TR Eal=kl 314 1772 491.2
103160211002761 | #H¥& 086000 TMEEY EYHI TR Ea=ki 317 174 491
103160211002875 | Eijdl 086000 MEEY EYHI TR Ex=kdl 298 191.6 489.6
103160211002901 | kA= 086000 HMEEY EMHITIR Ex=kdl 298 191.2 489.2
103160211002884 |  #XFr 086000 TMEEY EYHI TR Ex=kdl 299 189.6 488.6
103160211004482 | X#kIT 086000 HMEEY EYHI TR Ea=ki 303 184 487
103160211002801 | X|An{E 086000 THEEZH £t TR Eal=kl 307 1772 484.2
103160211005567 |  BR¥% 086000 SMEEHA EYHI TR Ex=kdl 288 191.2 479.2
103160211002820 | & 086000 TMEEY EMHITR Ex=kdl 289 186 475
103160211002885 | #R 086000 TMEEY EMHITR Ex=kdl 288 185.6 4736
103160211002787 | #HEE 086000 HMEEY EMHITIR Ex=kdl 290 180.4 470.4
103160211003146 |  3K#H 086000 H=HEEY £t TR Eal=kl 298 172.4 4704
103160211002863 | & 086000 SMEEHA EMHITIR Ex=kdl 290 179.2 469.2
103160211000165 | ENSHE 086000 EYEEY £t TR Eal=kl 298 164 462
103160211004460 | #HIE 086000 MEEY EYHI TR Eg=ki 301 159.2 460.2
103160211000996 | EImmp 086000 HMEEY EYHI TR Eg=ki 264 177.2 4412
103160211002898 | KRET 086000 H=YEEY EYEZTRE Eal=kl 353 182.4 535.4
103160211002808 | w4 086000 E=YEEY EYEZTRE Eal=kl 302 186.8 488.8
103160211005523 | EH#k 086000 E=YEEY EYEZTRE Eal=kl 321 159.6 480.6




EEGHS ZEHE | WEMETWE| #RRELER MR B FI7R | RS | ERERS | RERS | Tt
103160211005590 | FEfEfE 086000 HMEEY EYEFETRE Ex=kdl 279 179.2 458.2
103160211005591 |  *BFE 086000 TMEEY EYEFTRE Ex=kdl 273 1784 451.4
103160211002792 | = =fi 086000 H=HEEY hEHIE TR Eal=kl 354 196.33 550.33
103160211000047 | FE 086000 TMEEY ERZB TR Ea=kdl 330 179.67 509.67
103160211002906 | 4R1&HE 086000 T EEZH hEHIE TR Eal=kl 303 192.67 495.67
103160211000045 | EFEE 086000 EM5EY AT cA=k: 314 179 493
103160211002857 | &%~ 086000 T EEZH hEHIE TR Eal=kl 294 186.67 480.67
103160211000262 | EEMH 086000 M EEHA hEHIZE TR Eal=kl 294 184.33 478.33
103160211002852 | E =3 086000 T MEEY ERZB TR Ex=kdl 268 197 465
103160211001455 | 3KEE 086000 T EEZH hEHIE TR Eal=kl 280 184.33 464.33
103160211004426 | E£EW 086000 T MEEY EHZB TR Ex=kdl 280 181 461
103160211001557 |  #biE 086000 TMEEY EHZB TR Ex=kdl 266 191.33 457.33
103160211002814 | &EXF 086000 T EEZH hEHIE TR Eal=kl 264 187.67 451.67
103160211002793 | Z=REX 086000 T MEEY EHZB TR Ea=kdl 266 179.67 445.67
103160211005394 | #1578 086000 T MEEY EaRFEE5ERTRE Ead=k 353 200 553
103160211002766 | =iz 086000 MEEY SRR TR Ex=kdl 278 187.33 465.33
103160211004981 | EFH 086000 THEEZH MEHMEARETRE | £8H 355 193.2 548.2
103160211004319 | ERIE 086000 HMEEY MAMINMHEARAETE | £8F 348 184 532
103160211002772 | 3P5RE 086000 EMEEA | RAMINMEASIR | 23 343 177.6 520.6
103160211002876 | &5 086000 TMEEY MAMINMHEAETE | £8F 332 188.4 520.4
103160211004838 | 7S 086000 HMEEY MAMINMHEARETE | £8F 325 184.8 509.8




EERS FEER | MFERMELHE | HRRELER Rl R Z2I7AR | MREEK | EREHS | FRERS |00
103160211002828 | g5 086000 EMEEZ | RAMFMEASIRE | £84% 316 187.6 503.6
103160211002807 | X|F3 086000 EMEEZ | RAMTFMEASIRE | £84% 327 174.4 501.4
103160211003273 | #AZRIE 086000 YMEEH RAMTFMEAESTE | 287 332 168 500
103160211002845 | EF5E 086000 EMEEZD | REMINMEARSTIE | 28 303 192.4 4954
103160211003579 | B 086000 YMEEH RAMTFMEASTE | 28 310 184.4 494 .4
103160211005527 | BIniE 086000 EYMEEH RAMTFMEASTE | 287 307 180.8 487.8
103160211003279 | KA 086000 EMEEZ | RAMFNMEASIRE | £84% 318 169.2 487.2
103160211001378 | Z=7HEzh 086000 £5EY | REHIMEARSTIRE | 284 299 188 487
103160211005057 | A& 086000 EMEED | REMINEARSTIE | 8% 296 188.6 484.6
103160211004979 |  #R% 086000 EMEEZ | RAMFMEASIRE | 284 299 184.4 483.4
103160211000018 | EF# 086000 EMEEZ | RAMFNMEASIRE | £84% 297 185.2 482.2
103160211002782 | i 086000 £5EYE | RAEHIMEARSTIRE | 284 291 188.4 479.4
103160211001379 | &M 086000 =Y EEY RAMTFMEASTE | 28 297 179.2 476.2
103160211002858 | &K 086000 YMEEH RAMTFMEAESTE | 287 286 189.2 475.2
103160211003399 | 3K 086000 EMEEZ | RAMFMEASIRE | 284 288 186.8 474.8
103160211004422 | F&AEEL 086000 HMEEY BRAMTNMEARAETR | £HH 301 172.8 473.8
103160211004658 | #H&E& 086000 EMEEZ | RAMFNMEASIRE | £84% 280 187.2 467.2
103160211002891 | *R{EC 086000 EMEEZ | RAMTFMEARSIRE | £84% 283 183.6 466.6
103160211004429 | #X/E%¥ 086000 £5EY | REHINEARSTIRE | 284 281 184.8 465.8
103160211000498 | #X 086000 H=HEEY RAMTFMEASTE | 287 284 174.4 458 .4
103160211005006 | 3k #3E 086000 EMEEZ | RAMFNMEASIRE | £8% 295 161.6 456.6




EERS FEER | MFERMELHE | HRRELER Rl R Z2I7AR | MREEK | EREHS | FRERS |00
103160211000764 | FEREEF 086000 EYMEEH MAMINMHEAETE | £8F 273 1732 446.2
103160211004156 | Z=fBj& 086000 EMEEZ | RAMFMEASIRE | £84% 278 164 442
103160211004949 | BRiR1E 086000 £YMEREY | RGHIIMEASTIE | £8% 266 156 422
103160211004198 |  #%§ 086000 EMEEZ | RAMFMEASIRE | 284 270 150.4 420.4
103160211002842 | FiEm 086000 H=YEES ol 5 Rk R Ea=k 351 205.6 556.6
103160211002859 | & +L%F 086000 EYMEEH Lt f 5 R R Eg=ki 354 199.6 553.6
103160211002739 | H# 086000 EM5EH i 5 Rk Ea=kl 349 202.8 551.8
103160211002762 | SEE# 086000 HMEEY i SRR R Ex=kdl 358 192.4 550.4
103160211002815 | SRR 086000 EMS5EH i 5 Rk Ea=kl 353 197.2 550.2
103160211005393 | RE%E 086000 EMS5EH i 5 Rk R Ea=kl 340 200 540
103160211002866 | 5% 086000 EYEEH ik 5 R RR R ea=k 341 198.4 539.4
103160211002831 | FF 086000 EM5EH i 5 Rk R Ea=kl 353 185.6 538.6
103160211003765 | E kiF 086000 EMS5EH i 5 Rk ca=kl 342 191.2 533.2
103160211001283 | 2R##] 086000 EYMEEZ ik 5 KRR R ea=k 339 191.2 530.2
103160211002903 | =YL& 086000 EY5EH 1tk @5 R Rk R cA=kl 342 186.8 528.8
103160211003762 | R =HE 086000 EMEEH ik 5 R Rk fie R cA=kl 340 188.8 528.8
103160211004160 | FIMAA 086000 EMS5EH i 5 Rk ca=kl 341 180.8 5218
103160211004199 | AE1E 086000 EMS5EH i 5 Rk ca=kl 339 182.8 5218
103160211002895 | [i# 086000 EMS5EH i 5 Rk R ca=kl 333 187.6 520.6
103160211002775 | 1fai&fx 086000 EMS5EH i 5 Rk R ca=kl 322 198.4 520.4
103160211004818 | Tz 086000 EMS5EH i 5 Rk ca=kl 339 179.2 518.2




EEGHS Fhpa RN ET LG | FREL AR MR B 235K | MAES | EXERS | REUEMS | Z50HR
103160211003486 | 3K 086000 H=HEEY MRITEFFE Eg=ki 331 187.2 518.2
103160211002752 | ks 086000 H=HEEY MRITEFFE Ea=ki 324 194 518
103160211002770 | [M#E 086000 T EEZH MRABEE Ex=ki 315 202.4 517.4
103160211002870 | #FT 086000 HYE5EZ MRABEE Eal=kl 318 196 514
103160211004819 | #kpHT 086000 T EEZH MRITEFFE Ead=k 332 182 514
103160211004578 | #%{R{A. 086000 M EEHA MRABEE Eal=kl 323 190 513
103160211004158 | HEE 086000 T EEZH MRABEE Ex=ki 339 1736 512.6
103160211002888 | &% 086000 EMEEZ WMRAEEE 2B 336 176.4 512.4
103160211002758 | XPHE 086000 HYE5EZ MRABEE Eal=kl 325 186.8 511.8
103160211003855 | Z=4g 086000 TMEEY MRAEFE Ex=kdl 316 193.6 509.6
103160211004531 | AEFIEH 086000 HHEEY MRABEE Eal=kl 319 189.6 508.6
103160211003028 | FRERE 086000 £ 5EZ MRAEHE £B8% 318 184.8 502.8
103160211002813 | E¥& 086000 =Y EEY MRABEE Ex=ki 314 188.4 502.4
103160211005131 | &S 086000 SMEEHA MRAEFE Ex=kdl 320 173.2 493.2
103160211004294 | Z=fE 086000 H=HEEY MRABEE Ex=ki 328 163.2 491.2
103160211004929 | #%5E 086000 H=HEEY MRITEFFE Eg=ki 314 177.2 491.2
103160211000337 HE 086000 MEEY MRFAEFE Ex=kdl 308 182.4 490.4
103160211000499 | #XAEX 086000 £ 5EZ MRAEHE cx=k: 306 180 486
103160211005764 | *FEEX 086000 THEEZH MRITEFFE Eg=ki 306 177.2 483.2
103160211002781 | #& 086000 T E5EZ MRABEE Eal=kl 295 187.2 482.2
103160211001023 | FA&HEW 086000 E=YEEY MRITEFE Eg=ki 292 180.4 4724




EEGHS Fhpa RN ET LG | FREL AR MR B 235K | MAES | EXERS | REUEMS | Z50HR
103160211002743 | #1238 086000 H=HEEY MRABEE Eal=kl 302 168.8 470.8
103160211002877 | ski&E= 086000 H=HEEY MRABEE Eal=kl 304 166 470
103160211000876 | RW{E 086000 T MEEY MRFAEFE Ex=kdl 299 168.4 467.4
103160211005003 | F=F 086000 TMEEY MRAEFE Ea=kdl 287 180 467
103160211004555 | ®FZEZ= 086000 EMEER MRAEFE Ex=kdl 288 1784 466.4
103160211003856 | L% 086000 H=HEEY MRITEFFE Eg=ki 279 187.2 466.2
103160211002893 | RIA 086000 HMEEY MRFAEFE Ex=kdl 282 183.6 465.6
103160211005167 | & 086000 HYE5EZH MRABEE Eal=kl 288 177.6 465.6
103160211000917 | #X3I*#8 086000 HYE5EZ MRABEE Eal=kl 281 184.4 465.4
103160211002748 | FREE 086000 HYE5EZ MRABEE Eal=kl 289 174.4 463.4
103160211004783 | #EZ 086000 HHEEY MRITEFFE Eg=ki 293 1704 463.4
103160211002871 | #kfE:% 086000 H=HEEY MRABEE Ex=ki 291 1712 462.2
103160211003518 | EK#h 086000 =Y EEY MRITEFE Eg=ki 295 167.2 462.2
103160211005004 | fE&i 086000 H=HEEY MRITEFE Eg=ki 296 163.2 459.2
103160211002794 | Z3H 086000 H=HEEY MRITEFE Ead=k 283 176 459
103160211002832 | FiEZE 086000 T EEZH MRITEFFE Ead=k 278 180 458
103160211000988 | X|F¥E 086000 EYMEED WMRAEEE £B8% 289 166.4 455.4
103160211001074 | 3k&HR 086000 HMEEY MRAEFE Ex=kdl 270 181.6 4516
103160211002768 | B¥RE 086000 H=YEEY MRABEE Eal=kl 274 175.2 449.2
103160211004159 | 4T 086000 T E5EZ MRABEE Eal=kl 287 159.6 446.6
103160211002763 |  fFid# 086000 H=HEEY MRITEFE Eg=ki 282 164.4 446.4




EEGHS ZEHE | WEMETWE| #RRELER MR B FI7R | RS | ERERS | RERS | Tt
103160211002791 | Z%] 086000 HME5EZ MRABEE Eal=kl 273 172 445
103160211005770 | SKERLT 086000 T EEZH MRITEFFE Eg=ki 265 179.2 4442
103160211004226 | fHIE 086000 HMEEY MRFAEFE Eg=ki 267 171.2 438.2
103160211001555 | #R4I 086000 £ 5EZ WRAEEE £B8% 265 170.8 4358
103160211001414 | FNEBER 086000 HYE5EZ MRABEE Eal=kl 281 153.6 4346
103160211002796 | EEELN 086000 EYE5EZ WMRAEEE £B8% 268 165.6 4336
103160211003394 | Z=&HE 086000 MEEHA MRFAEFE Ex=kdl 271 154 425
103160211002749 | B&iKK 086000 T MEEY BESRASEYE Ex=kdl 363 193.2 556.2
103160211002822 | REHE 086000 H=YEEY BEISRASEVETE Eal=kl 343 204 547
103160211000306 | XEEEE 086000 EMEERR BESRASEYLEE Ex=kdl 354 184 538
103160211003761 | 3% 086000 H=HEEY BEIERASEVETE Eal=kl 348 189.6 537.6
103160211002783 | #&%E 086000 TMEEY BESRASEYLEE Ex=kdl 342 194.8 536.8
103160211000543 |  PHAR 086000 TMEEY BESRASEYLEE Ex=kdl 345 186.8 531.8
103160211003026 | T## 086000 i 5E BSFAESMLEE | £HF 337 187.6 524.6
103160211001171 | EIEHK 086000 H=HEEY BEISRASEVETE Eal=kl 349 168.4 517.4
103160211001140 | 3K 086000 H=HEEY BEISRASEVETE Eal=kl 340 176.8 516.8
103160211002902 | ZR7EAR 086000 HMEEY ESRASEYLEE Ex=kdl 325 189.2 514.2
103160211002802 | XIE3E 086000 HMEEY BESRASEYLEE Ex=kdl 323 190.8 513.8
103160211000232 | 3k k5] 086000 HYE5EZ BESRASSTYEE EN=k| 351 162.4 513.4
103160211000763 | XH=F 086000 E=YEEY BEERAEFYE Ead=k 317 190 507
103160211000389 | EEfHF+ 086000 EMEEH BEISRASEVETE Eal=kl 326 175.6 501.6




EEGHS Fhpa RN ET LG | FREL AR MR B 235K | MAES | EXERS | REUEMS | Z50HR
103160211002755 | FREFg 086000 H=HEEY BEISRASEVETE Eal=kl 310 1912 501.2
103160211003766 | K& 086000 HMEEY ESRASSYLEE Ex=kdl 309 184.8 4938
103160211003954 | =4 086000 EMEEH ESRASEYLEE Ex=kdl 307 186.4 493.4
103160211003549 | &5 086000 EMEEH BESRASEYLEE Ex=kdl 291 195.2 486.2
103160211002840 | EFE 086000 HMEEY BESRASEYLE Ex=kdl 296 190 486
103160211004157 | X&=S 086000 T EEZH MRITEFFE Eg=ki 302 179.2 481.2
103160211002851 | E=F 086000 H=HEEY MRITEFFE Eg=ki 342 1388 480.8
103160211002887 | & 086000 H=HEEY MRITEFFE Ea=ki 291 186 477
103160211005565 |  Ei7N 086000 H=HEEY MRITEFFE Ea=ki 303 174 477
103160211000303 | Z=[AF 086000 T EEZH MRITEFFE Ea=ki 291 184 475
103160211001113 | FXX 086000 T EEZH MRITEFFE Eg=ki 302 171.2 473.2
103160211003551 |  Z=ii 086000 H=HEEY MRITEFFE Eg=ki 282 190.4 4724
103160211002803 | B = 086000 HMEEY R TT R E Ex=kdl 293 178.8 4718
103160211004925 |  # &l 086000 H=HEEY MRITEFE Ead=k 304 164 468
103160211002890 | & 086000 T EEZH MRITEFE Eg=ki 295 170.8 465.8
103160211000353 | Fi& 086000 £ 5EZ MRAEHE £B8% 307 151.6 458.6
103160211003935 | SEiEM 086000 EYEEY MRITEFFE Eg=ki 289 167.2 456.2
103160211002843 | #HEE 086000 HYE5EZ MRABEE Eal=kl 293 162.8 4558
103160211003471 | N 086000 H=HEEY MRITEFFE Eg=ki 286 156.4 4424
103160211004610 | FNIIAE 086000 E=YEEY MRITEFE Ead=k 276 158 434
103160211004296 | 3K EIH 086000 M EEHA WRAEEE 2B 270 162.4 432.4




EEGHS ZEHE | WEMETWE| #RRELER MR B FI7R | RS | ERERS | RERS | Tt
103160211001245 | £ 086000 H=HEEY MRITEFFE Eg=ki 278 150.4 4284
103160211002800 | XIZRIE 086000 HMEEY EAABBSATIER | £HF 352 186.8 538.8
103160211002798 | B3 086000 HMEEY EAABBSATIER | £HF 331 201.2 532.2
103160211004200 | FXT 086000 HMEEY EAABBSATIER | £HF 334 189.8 523.8
103160211001020 | BRiZER 086000 H=HEEY EARKESATEE | 8% 335 180 515
103160211003395 | Z= 086000 T EEZH EARKESATEE | 8% 307 1772 484.2
103160211004461 | B 086000 H=HEEY EARKESATSE | 8% 301 1704 4714
103160211000759 | BRI 086000 £ 5EZ EHAKIBEBSATER | £8% 276 194.8 4708
103160211003027 | PhEW 086000 H=YEEY MRITEFFE Ea=ki 293 174 467
103160211004601 | &I 086000 H=HEEY MRITEFFE Eg=ki 272 175.2 447.2
103160211003508 | KB 086000 HHEEY MRITEFFE Eg=ki 270 172.8 442.8
103160211001943 | &25F 105500 Tyt wYPERS T | 84 376 200.8 576.8
103160211000606 | ¥FXi# 105500 Tyt wYERSTEh | 84 375 198 573
103160211003283 | f#fI 53] 105500 7 KBYEMSTZHhL Ex=ki 367 194.4 561.4
103160211004302 | EE 105500 5% HYERE T2 Ex=kdl 365 196.4 561.4
103160211003697 | 3KiHE 105500 7% HMERSTEHh Ex=kdl 366 190 556
103160211005194 | i&f& 105500 HE HMERSTEHh Ex=kdl 369 186.4 555.4
103160211000154 | #9Jfk 105500 HBE HYERE LML Ex=kdl 364 181.2 545.2
103160211004053 | 1ERIR 105500 7% HYERE T2 Ex=kdl 357 187.2 544.2
103160211005249 | 3k#E4F 105500 7y wYERSTEh | 8 353 189.2 542.2
103160211004233 | RAE 105500 7% HMERSTEHh Ead=k 347 190 537




FERS ZEHE | WEMETWE| #RRELER MR EER FI7R | RS | ERERS | RERS | Tt
103160211003293 | KL 105500 %% KBYEMS T Eal=kl 358 1788 536.8
103160211005869 | *kZEif 105500 %% KBYEMS T Eal=kl 340 196.4 536.4
103160211002974 | &4 E 105500 7y HMERSTIEZHht | £8% 346 188.8 534.8
103160211001126 | R#f 105500 A AMERSTIZHht | £8% 350 183.6 533.6
103160211001154 | % 2% 105500 7% HYERE T Ex=k 332 200.4 532.4 Eﬁig}zﬁﬁ—ig

Rtz 115844>
103160211000579 | EEC 105500 %HE HMERS Tk E=k 337 194.4 531.4
103160211005065 |  %3& 105500 %HE HYERE T Ex=k 343 187.2 530.2
103160211003965 | 3KAKEE 105500 7% HMERS Tk E=k 347 180.4 527.4
103160211004676 | 1244 105500 HE wYERSTEh | =8 338 181.6 519.6
103160211000103 | #%H# 105500 7HE HMERS Tk E=k 345 172.8 517.8
103160211000095 | #HEHE 105500 % wYERSTEhL | =8 352 164.4 516.4
103160211000588 | A—08 105500 % HYERSTEh | =8 331 185.2 516.2
103160211004967 | /R 105500 % wYERSTEh | =8 331 185.2 516.2
103160211004076 | KE 105500 % HEMERS Tk E=k 327 186.4 513.4
103160211005532 | #IXE 105500 7HE HYERE T Ex=k 323 188.4 511.4
103160211001177 | 105500 7% HYERE T Ex=k 314 197.2 511.2
103160211001743 | &S 105500 % HYERSTEh | =8 315 195.6 510.6
103160211001719 | PR 105500 7HE HYERE T E Ex=L 326 184 510
103160211003480 | 3K% X 105500 7HE HYERE T E Ex=k 324 184.8 508.8
103160211003842 | EW 105500 HE wYERSTEh | =8 318 190.8 508.8




EEGHS ZEHE | WEMETWE| #RRELER MR B FI7R | RS | ERERS | RERS | Tt
103160211004751 | &k 105500 A HYERE T Eal=kl 317 188.4 505.4
103160211003180 | =i 105500 HE HMERSTEHh Ea=ki 324 180 504
103160211003584 | FREESS 105500 Tyt wYERSTEh | 84 318 184.8 502.8
103160211004467 | &EH 105500 7 HYERE T Ex=ki 319 183.6 502.6
103160211004232 | MR 105500 7 wYERSTEh | 8 320 182 502
103160211001123 | +#R5E 105500 7y wYERSTEh | 8 328 173.6 501.6
103160211005546 | E R 105500 7y wYERSTEh | 84 336 165.6 501.6
103160211003800 | ZF{£# 105500 7y wYERSTEh | 84 308 193.2 501.2
103160211003718 | Z IR 105500 7 HYERE T Ea=ki 314 186 500
103160211003521 | X% 105500 HBE HMERSTEHh Ex=kdl 335 164.8 499.8
103160211000820 | #EHsE 105500 7y wYPERS T | 84 315 183.6 498.6
103160211001777 | EBK 105500 7 HYERE T2 Ex=kdl 300 198.4 498.4
103160211005214 | EE® 105500 7% HMERSTEHhM Ex=kdl 315 182.8 497.8
103160211000610 | FFIE 105500 7y wYPERSTEh | 8 330 164.8 4948
103160211004992 | KA 105500 Tyt wYERSTEh | 8 320 174.8 4948
103160211005184 | fBNE 105500 7y wYERSTEh | 8 332 162.8 4948
103160211000613 | 3KIEIE 105500 7 HYERE T Ex=ki 320 174.4 494 .4
103160211003712 | #t=¢ 105500 e wYERSTEh | 8% 305 189.2 494.2
103160211003286 | Rkt 105500 e wYERSTEh | 84 325 168.4 4934
103160211003620 | &E#E 105500 7y HYERE T EN=ki 323 170 493
103160211003716 | X538 105500 7y wYERSTEh | 84 325 168 493




FERS ZEHE | WEMETWE| #RRELER MR B FI7R | RS | ERERS | RERS | Tt
103160211004354 | {FlR{E 105500 Sk HYERE T2 Ex=kdl 304 188.4 492.4
103160211001889 | #hE&ZF 105500 7 KBYEMS T Ex=ki 302 189.6 491.6
103160211004301 | 23T K 105500 7 HYERE LML Ex=kdl 313 178.4 4914
103160211005222 | HEE 105500 P2 HYERE LML Ea=kdl 307 184 491
103160211000840 | EE 105500 HBE HMERSTEHh Ex=kdl 317 173.6 490.6
103160211001292 | &k 105500 A wYERSTEh | 8 315 175.2 490.2
103160211001835 | X|FX 105500 7 wYERSTEh | 84 314 175.2 489.2
103160211001118 | Z=&{H 105500 7y AMERSTIZHht | £8% 304 184.4 4884
103160211005073 | Fk¥EE 105500 7 HMERSTEHh Ex=kdl 301 187.2 488.2
103160211001721 | #&HHEFR 105500 7% HYERE LML Ex=kdl 320 167.6 487.6
103160211004351 |  Xl5; 105500 HE wYERSTEh | 84 301 186 487
103160211003727 | #FTHE 105500 7 HMERSTEHh Eg=ki 312 174.4 486.4
103160211004323 | E#EHE 105500 7 KBYEMS T Eal=kl 309 177.2 486.2
103160211005437 | EEF 105500 7y wYPERSTEh | 8 301 184.8 4858
103160211004587 | Z=&EE 105500 7% HYERE T2 Ex=kdl 301 184.4 485.4
103160211000255 | #ALE 105500 HBE HYERE LML Ex=kdl 308 176.4 484.4
103160211000027 | EHH 105500 7y wYERSTEh | 8 344 1388 4828
103160211000578 |  f&4T 105500 HE HMERSTEHh Ex=kdl 311 171.6 4826
103160211003531 | FEF 105500 Tyt wYERSTEh | 84 317 165.2 482.2
103160211005897 | =& 105500 Tyt wAMERSTIZHht | £8% 306 174.4 480.4
103160211002966 |  [&3k 105500 i wYERSTEh | 84 305 169.6 474.6




FERS ZEHE | WEMETWE| #RRELER MR B FI7R | RS | ERERS | RERS | Tt
103160211004492 | #EH&E % 105500 Sk HMERSTEHh Ex=kdl 327 147.6 4746
103160211001473 |  #ARG 105500 A HMERSTIZHht | £8% 302 170.4 4724
103160211003826 | STF4F 105500 7 HMERSTIEZHht | £8% 331 139.6 470.6
103160211003587 | 3KHLFE 105500 7 KBYEMS T Eal=kl 306 164 470
103160211004972 | S 105500 5% HYERE T2 Ex=kdl 320 137.2 457.2
103160211004006 | FERRER 105500 7 AMERSTIZHht | £8% 310 146.8 456.8
103160211003983 | HH 105500 7 T A7 Eg=ki 387 203.6 590.6
103160211000603 | EfFEF 105500 7HF T #5505 Ea=ki 389 198 587
103160211004075 | =EEHEL 105500 HBE T #5505 Eg=ki 377 206.8 583.8
103160211005905 | Ei&EHF 105500 7HE T #5505 Ex=kdl 386 196.67 582.67
103160211004005 | #HiMNEE 105500 pslal T v 47 ex=k] 385 197.6 582.6
103160211003195 | & 105500 HE Tl #5505 Ex=kdl 381 196.8 577.8
103160211000593 | #AH 105500 % T #5505 Ea=kdl 370 205.33 575.33
103160211001859 | 4&H 105500 7% Tz Eg=ki 382 187.2 569.2
103160211001185 | xFkJL 105500 HBE T #5505 Eg=ki 374 194.8 568.8
103160211004061 | E¥% 105500 7 Tk ZE7% Eal=kl 367 199.2 566.2
103160211004040 |  #K 105500 HE T #5505 Ex=kdl 371 193.2 564.2
103160211000576 |  ZB#K 105500 7 T A7 Eg=ki 367 196.8 563.8
103160211000590 | L EMA 105500 HBE T #5505 Ex=kdl 358 199.6 557.6
103160211004618 | FF$FN, 105500 HBE T #5355 Ead=k 362 194 556
103160211004172 | BZHE 105500 HBE T #5505 Eg=ki 362 1932 555.2




FERS ZEHE | WEMETWE| #RRELER MR B FI7R | RS | ERERS | RERS | Tt
103160211000523 | FREE 105500 ke Tk zh7I% ex=k] 359 195.6 554.6
103160211000604 | FE¥%k 105500 7 T A7 Ea=ki 346 208 554
103160211000615 |  #XBE 105500 7 T v 47 EN=k| 359 192.8 551.8
103160211001389 | &% 105500 7HF T A7 Ex=kdl 350 199.2 549.2
103160211003325 | skIFH 105500 HBE T A7 Ex=kdl 342 206.8 548.8
103160211004252 | X5 105500 HBE T #5515 Ex=kdl 359 189.2 548.2
103160211001900 & 105500 % T #F% Ex=kdl 351 195.33 546.33
103160211001745 | B<H 105500 HBE T A7 Ea=kdl 347 198 545
103160211003492 | X|E# 105500 7 Tk ZE7% Ea=kl 343 202 545
103160211005320 | ={E#s 105500 7% T A7 Ex=kdl 346 1984 544 4
103160211002983 | #&F& 105500 pslal T v 47 ex=k] 346 198 544
103160211003151 TE 105500 HE T #5505 Ex=kdl 347 194.8 541.8
103160211005592 5o 105500 7 T #5515 e=k 349 192.67 541.67
103160211001960 | FR+EAR 105500 7% Tz Ex=kdl 344 197.2 541.2
103160211001157 | ZEfFHE 105500 7 Tk ZE7I% Eal=kl 347 194 541
103160211000573 | B&¥ = 105500 Tyt T v 47 2B 354 186.8 540.8
103160211001827 | X3 H 105500 7 T v 47 EN=k] 339 201.33 540.33
103160211003411 | BR&& 105500 Tyt T v 47 2B 353 187.2 540.2
103160211003707 | &BIEME 105500 HBE T A7 Eg=ki 353 185.6 538.6
103160211000771 |  EH¥ 105500 7 Tk Z57I% Eal=kl 347 190.4 537.4
103160211000607 | EZE 105500 7HF T A7 Ex=kdl 340 196.67 536.67




FERS PRI E WD | UREE W BFR MR EER FI7R | RS | ERERS | RERS | Tt
103160211001937 105500 %% T #5505 Ea=ki 343 193 536
103160211005246 105500 HBE T #5505 Ea=ki 344 192 536
103160211001778 105500 HBE T #F% Ea=kdl 338 196.67 534.67
103160211004833 105500 HBE T #5505 Ea=ki 344 190 534
103160211005241 105500 HE T #5505 Ead=k 335 198 533
103160211001252 105500 HBE T #5515 Ex=kdl 342 190.67 532.67
103160211005250 105500 HBE T #F% Ex=kdl 337 194.67 531.67
103160211005598 105500 7 Tk ZE7% EN=k| 328 203.2 531.2
103160211004343 105500 7 Tk ZE7% 2B 340 189.6 529.6
103160211001562 105500 7 Tk ZE7% 2B 339 190.4 529.4
103160211000817 105500 7 Tk 57 EN=k| 334 193.6 527.6
103160211001576 105500 HBE T #5505 Ex=kdl 346 181 527
103160211001227 105500 7 Tk ZE7% 2B 338 188.8 526.8
103160211001879 105500 HE T #5505 Ex=kdl 351 175.2 526.2
103160211005521 105500 HBE T #5515 Ex=kdl 327 199.2 526.2
103160211001923 105500 7 Tk ZE7% EN=k] 332 193.33 525.33
103160211001843 105500 7 Tk ZE7% ex=kl 332 193 525
103160211001738 105500 7 Tk ZE7% ex=kl 334 190 524
103160211003878 105500 7 Tk ZE7% ex=kl 335 189 524
103160211001570 105500 7 Tk Z57I% 2B 333 190.4 523.4
103160211003416 105500 7 Tk ZE7I% 2B 339 184.4 523.4




FERS ZEHE | WEMETWE| #RRELER MR EER FI7R | RS | ERERS | RERS | Tt
103160211004445 | 2= 105500 %% T #5505 Ex=kdl 323 199.6 522.6
103160211003884 | k1% 105500 HE T #5505 Ex=kdl 327 194.8 521.8
103160211005683 | A& 105500 HE T #5505 Ea=ki 323 195.67 518.67
103160211003693 | SeErt 105500 Pl T #5505 e=k 322 195.6 517.6
103160211004018 | EHiziE 105500 HBE T #5505 Ex=kdl 339 1784 517.4
103160211003328 | KWK 105500 HBE T #5505 Ex=kdl 339 177.67 516.67
103160211005541 | Z=&FHR 105500 7HF T #F% Ex=kdl 336 180.67 516.67
103160211000856 | H&E= 105500 7HF T #5505 Ex=kdl 337 179.2 516.2
103160211001815 | ZAZh 105500 7 T v 47 2B 309 207.2 516.2
103160211001901 | #REWR 105500 7 T v 47 ex=kl 338 178 516
103160211004535 | FR1FHE 105500 7HF T #5505 Eal=kl 327 188.8 515.8
103160211003083 | FIXB5& 105500 HBE T #5505 Ex=kdl 334 181.2 515.2
103160211000201 | =I5B 105500 7 T v 47 ex=kl 325 190 515
103160211003874 | 2= 105500 HBE T #5505 Ex=kdl 325 189.2 514.2
103160211004171 | X4 105500 7 T v 47 2B 326 187.6 513.6
103160211004750 | FEid 105500 HE T #5505 Ex=kdl 327 186.4 513.4
103160211001919 | FEfE 105500 7 T v 47 ex=kl 323 189 512
103160211001823 | X% A 105500 7 T v 47 2B 311 200.8 511.8
103160211005608 | REH 105500 7 Tk ZE7% Eal=kl 321 190.4 511.4
103160211000064 | MR 105500 % T #5355 Ex=kdl 315 196.33 511.33
103160211004231 | &&= 105500 HBE T #5505 Ex=kdl 341 170.33 511.33




FERS ZEHE | WEMETWE| #RRELER MR EER FI7R | RS | ERERS | RERS | Tt
103160211000830 | Z&EE 105500 o Tk z575 Ex=kdl 317 194 511
103160211003184 | IpJE 105500 Pfea Takza7= e=k 325 185.67 510.67
103160211000948 | Z=it R 105500 7HF T #F% Ea=ki 319 190 509
103160211003067 | Z=KIE 105500 HBE T #5505 Ex=kdl 317 190.8 507.8
103160211005749 | ZEJ3EE 105500 HBE T #5505 Ex=kdl 326 181.67 507.67
103160211001796 | Z=t§1E 105500 HBE T #5505 Ex=kdl 322 184.67 506.67
103160211000391 | EER 105500 pslal T v 47 ex=kl 323 183.33 506.33
103160211005397 | 5K Jb4 105500 7% T A7 Eg=ki 323 1832 506.2
103160211001916 | F &% 105500 HBE T #5505 Ex=kdl 311 194.67 505.67
103160211000482 | s£HZE 105500 7HE T #5505 Ea=ki 321 184 505
103160211004032 | %3 105500 7 Tk 57 EN=k| 318 186.33 504.33
103160211003331 | #h&EH 105500 Tyt T v 47 EN=k| 315 189.2 504.2
103160211000153 | &#KX= 105500 7HF T #5505 Ex=kdl 315 187.6 502.6
103160211001828 | Xz& 105500 HE T #5505 Ex=kdl 324 178.4 502.4
103160211004202 | XEEfS 105500 7 T v 47 ex=kl 317 185.33 502.33
103160211004678 | JEEAR 105500 7 T v 47 ex=kl 318 183.67 501.67
103160211000277 | D753k 105500 Pl T #5505 e=k 309 192.4 501.4
103160211004207 | RELE: 105500 7 Tk ZE7% Eal=kl 313 188.4 501.4
103160211005604 | &L 105500 P2 Tk Z555 Ex=kdl 314 187.2 501.2
103160211000372 | EXfE 105500 HBE T #5355 Ead=k 311 189 500
103160211003806 5= 105500 7 T A7 Ead=k 310 190 500




FERS ZEHE | WEMETWE| #RRELER MR B FI7R | RS | ERERS | RERS | Tt
103160211001854 | XA 105500 752 T zsHe £8% | 281 199.33 48033 |VHEREETFIHY
103160211000594 | &8k 105500 Pl Tl zs3= E=k 254 170.8 4248  |DEREKEETITL
103160211001771 | #E&HkiE 105500 % HYRESHREH £ HH 362 204.8 566.8
103160211003955 | SI#&'l4 105500 7% HYRE SRR E=k 354 198.6 552.6
103160211001792 | Z=77E 105500 7% B RESIRERH Ex=k 356 1856 541.6
103160211001858 | F &40 105500 7HE HYRE SRR E=k 352 189.2 541.2
103160211001332 |  #%F%+ 105500 HE HYRESHREH £ HH 360 176.8 536.8
103160211001751 | [HEIE 105500 % HYRESHREH £ HH 358 176.4 534.4
103160211000993 | F#ilE 105500 % HYRESHREH £ HH 354 1776 531.6
103160211001635 | BEXE 105500 7HE HYRESIREEH Ex=k 340 1912 531.2
103160211002043 | 2R¥KEf 105500 7% AP RESIRERH Ex=k 352 178.8 530.8
103160211003192 | 3k = 105500 % HYRESIREH £ HH 346 184 530
103160211005815 |  BEf+ 105500 HE HYRESHIREH £ HH 340 188 528
103160211001120 | #ikE 105500 7% AP RESIRERH Ex=k 339 188.8 527.8
103160211000131 | =iE 105500 %HE B RESIRERH Ex=k 350 1726 522.6
103160211002986 | #%CWN 105500 % HYRESHREH £ HH 342 179.2 521.2
103160211003623 |  3KM§ 105500 HE HYRESHREH £ HH 346 175.2 521.2
103160211005780 | HAEtR 105500 % HYRESHREH £ HH 349 1716 520.6
103160211003713 | B AH 105500 % HYRESHREH £ HH 358 162 520
103160211004522 | &3¢ 105500 HE HYRESHREH £ HH 341 1776 518.6
103160211000343 | B 105500 HE HYRESHREH £ HH 353 165.2 518.2




FERS ZEHE | WEMETWE| #RRELER B FI7R | RS | ERERS | RERS | Tt
103160211001951 | EfEEE 105500 %% AP RE 5T EE Ex=kdl 327 190.8 517.8
103160211000155 | k=& 105500 7HF KYRESTEEH Eal=kl 341 176.4 517.4
103160211003714 | #ARE 105500 Tyt HYRESTREH ex=k] 339 178 517
103160211001804 | Z=E K5 105500 7y HYRESIRES ex=kl 328 188 516
103160211003566 | FEiBiE 105500 kal HYRESIRES Eal=kl 335 180.4 515.4
103160211004042 | 24 105500 7% HYRESIREES Ex=kdl 325 189.2 514.2
103160211000609 | FE 105500 i HYRESIRES 2B 332 180.8 512.8
103160211000061 | #HFE 105500 7HF HYRESITREE Ex=kdl 340 172.4 512.4
103160211001764 | =BT 105500 HBE HYRESIREES Ex=kdl 332 179.6 511.6
103160211003964 | 3KEHH 105500 7 HYREBESIRES EN=k| 349 162 511
103160211004255 | RmI 105500 HE HYRESIREES Ex=kdl 332 178.8 510.8
103160211000213 | FE# 105500 HE HYRE SRS Ex=kdl 327 183.4 510.4
103160211000952 | E &% 105500 7% HYRESTREES Eg=ki 331 178.4 509.4
103160211001813 | Z#¥ 105500 7% HYRESTREES Eg=ki 325 1836 508.6
103160211003717 |  XIJ¥k 105500 7 HYRESTREES Ead=k 339 169 508
103160211001983 | #¥H 105500 7HF HYRESIREES Ex=kdl 332 175.6 507.6
103160211004685 | #k—A 105500 7HF HYRESITREE Ex=kdl 322 185.2 507.2
103160211003190 | & & 105500 7% HYRESTREES Eg=ki 341 165.6 506.6
103160211005191 | 528 105500 7% HYRESTERS Eg=ki 343 163.6 506.6
103160211001820 | #AHE 105500 HBE AP RE 5T EE Ex=kdl 324 180.4 504.4
103160211000167 | =B 105500 7 HYRESILREE Eg=ki 342 1616 503.6




FERS ZEHE | WEMETWE| #RRELER B FI7R | RS | ERERS | RERS | Tt
103160211004049 | {EXE: 105500 %% AP RE 5T EE Ea=ki 315 188 503
103160211005223 | [E5# 105500 7HF A RE 5T EE Ea=ki 329 174 503
103160211003162 | R4fiE 105500 Tyt HYRESTREH ex=k] 324 178.8 502.8
103160211005868 | XRiE 105500 7HF HYRESIREES Ex=kdl 315 187.2 502.2
103160211003176 | EE&HE 105500 7HF HYRESTERS Ead=k 330 171 501
103160211000448 | FEfE 105500 7 HYRESTREES Eg=ki 330 170.4 500.4
103160211005543 | HEEhK 105500 7HF HYRESIREES Eg=ki 329 171.2 500.2
103160211003987 | AL 105500 7HF HYRESITREE Ea=ki 316 184 500
103160211004050 | #NEE 105500 7HF HYRE SRS Ea=ki 335 164 499
103160211004246 | K EF 105500 7 HYRESTEES Ex=kdl 315 183.6 498.6
103160211003155 | fFHEM 105500 7% HYRESTEES Ea=ki 335 162 497
103160211002981 | EHEF] 105500 HBE HYRE SRS Ex=kdl 315 181.6 496.6
103160211005501 | EEIIK 105500 Tyt HYRESIRES 2B 327 168.8 4958
103160211002009 | KERE 105500 7HF HYRESTREES Ex=kdl 324 171.6 495.6
103160211002972 | #AsH 105500 7y HYRESIRES 2B 330 164.8 494.8
103160211004264 | K38 105500 7 HYRESIRERS Ex=kdl 320 174.8 4948
103160211005553 | EiFH 105500 7% AP RE 5T EE Ex=kdl 322 172.4 494 .4
103160211005526 | RZHk 105500 7HF HYRESIRES Eal=kl 321 173 494
103160211001753 | [FHELE 105500 HBE HYRE SRR Eg=ki 323 170.4 4934
103160211003294 | FEHEh 105500 7y HYRESTEEH Eal=kl 320 173.2 4932
103160211004037 | #L1E 105500 HBE AP RE 5T EE Ex=kdl 317 175.2 4922




FERS ZEHE | WEMETWE| #RRELER B FI7R | RS | ERERS | RERS | Tt
103160211001190 | K& & 105500 %% AP RE 5T EE Ex=kdl 316 176 492
103160211000212 | F#&#EfF 105500 7HF KYRESTEEH Ex=ki 312 179.2 491.2
103160211000104 | =fE 105500 7 AP RE 5T EE Ex=ki 325 165.8 490.8
103160211004307 | #MBERE 105500 7 HYRESIREES Ex=kdl 312 178.8 490.8
103160211005678 | %= 105500 7% HYRESTERS Ex=kdl 323 164.4 487.4
103160211004173 | {E& 5 105500 7 HYRESIRES Eal=kl 316 170 486
103160211000358 | FEHk 105500 Tyt HYRESIRES 2B 312 172.8 484.8
103160211001830 | XIF#E 105500 7HF HYRESITREE Ex=kdl 312 172.8 4848
103160211004078 | BKERYE 105500 HBE HYRESIREES Ea=ki 320 164 484
103160211002014 | 3KJE 105500 % HYRESTEES Eg=ki 319 164.4 483.4
103160211000829 | k& 105500 7% HYRESTEES Eg=ki 315 162.2 4772
103160211005108 | 3k @] 105500 7HF HYRE SRS Eg=ki 300 175.2 475.2
103160211003321 |  3kiF 105500 7 HYRESTREES Ex=kdl 313 161.8 4748
103160211003095 | E3kFE 105500 7 HYRESIRES Eal=kl 309 165.6 474.6
103160211001727 | T4E 105500 7 HYRESTREES Eg=ki 301 173.2 4742
103160211001030 | XK & 105500 7HF HYRESIREES Ex=kdl 308 165.6 4736
103160211004957 | fRkAK 105500 7 HYRESTREEH Eal=kl 309 164.4 4734
103160211005064 | & 105500 HE HYRESIRES 2B 304 168.8 472.8
103160211004348 | X|& 105500 HE HYRE SRR Eg=ki 304 168.4 472.4
103160211000601 | f&F & 105500 7 HYRESILREE Eg=ki 301 171.2 4722
103160211005139 | &1 105500 bzl HYRESTREH ex=k] 313 158 471




EEGHS ZEHE | WEMETWE| #RRELER MR B FI7R | RS | ERERS | RERS | Tt
103160211003302 | FEFF] 105500 HBE HYRESITREE Ex=kdl 302 166.6 468.6
103160211001758 |  #H¥& 105500 7 HYRESITREE Eg=ki 304 164.4 468.4
103160211005836 |  3K’iF 105500 % AP RESEREET Eal=kl 308 157.6 465.6
103160211004450 | ER5Rs 105500 7% HYRESITREE Ex=kdl 300 164.8 4648
103160211005934 | RiBE 105500 kal HYRESTEEH Eal=kl 304 160 464
103160211003708 | fRi&%4 105500 7 G R 755 Eg=ki 408 206.8 614.8
103160211000852 |  #BfE 105500 % G R 755 Eal=kl 389 205.4 594.4
103160211003722 | Rz 105500 7 w752 e=k 401 178 579
103160211003640 | X 105500 i e R 252 ex=k] 370 200.2 570.2
103160211002026 | #3540 105500 7 s PR 252 Ex=ki 380 184.8 564.8
103160211001287 | EH4E 105500 7y e R 252 ex=k] 368 193.4 561.4
103160211000474 | £ 105500 Pl R PR 752 Ex=kdl 363 194.4 557.4
103160211001150 | Z={EFE 105500 7% iR PR 255 Eg=ki 352 204.2 556.2
103160211005975 | BREAR 105500 7% iR PR 255 Eg=ki 369 186.2 555.2
103160211001034 | 15EEHE 105500 7y e R 255 ex=k] 371 183.6 554.6
103160211001836 | #1z=H 105500 7HF K255 ca=kl 365 189.6 554.6
103160211005497 | Z== 105500 % iR PR 255 Eg=ki 362 188.8 550.8
103160211001179 | =FR¥E 105500 7% w752 Ex=kdl 368 181.2 549.2
103160211003475 | #A3%& 105500 lal e R 2% ex=k] 355 193.8 548.8
103160211005549 |  #i% 105500 7 im R Z5% Ex=kdl 373 174.4 547 .4
103160211000857 | T &iE 105500 7% iR PR 752 Ex=kdl 367 179.4 546.4




EEGHS ZEHE | WEMETWE| #RRELER MR B FI7R | RS | ERERS | RERS | Tt
103160211005675 | ED— 105500 pilal e R 2% ex=k] 346 199.8 545.8
103160211001733 |  E&ifs 105500 i e R 2% ex=k] 360 183.8 543.8
103160211003721 | 4% 105500 7 iR R 255 Ex=kdl 373 170.2 543.2
103160211003808 | #(x% 105500 7 R R 755 Eal=kl 366 1752 5412
103160211003775 | A5 E 105500 pslal e R 2% ex=k] 349 188.8 537.8
103160211001723 | EHTHT 105500 Tyt e R 2% ex=k] 358 179.6 537.6
103160211001819 | #% K 105500 7% iR PR 255 Eg=ki 342 194.8 536.8
103160211000067 | £ 105500 7% iR PR 255 Eg=ki 352 184.4 536.4
103160211001488 | /X 105500 7% iR PR 255 Eg=ki 351 185.2 536.2
103160211002050 | 4pfs& 105500 7 e R 25 % EN=k| 346 190.2 536.2
103160211003990 |  /Efn 105500 % G R 75 % Eal=kl 359 1772 536.2
103160211004809 | R2 105500 7 iR PR 255 Eg=ki 357 176.2 533.2
103160211001151 RA 105500 5% w752 Ex=kdl 356 176.8 532.8
103160211001993 | FEMlT 105500 7 G R 75 % Eal=kl 357 1756 532.6
103160211000596 | {x¥ 105500 % G R 755 Eal=kl 347 1852 532.2
103160211003832 | #httfA 105500 7 G R 755 Eal=kl 335 196.2 531.2
103160211005637 | FEH 105500 bzl e R 2% ex=k] 337 194.2 531.2
103160211003719 | H=E4R 105500 7 R R 755 Eal=kl 346 184.2 530.2
103160211000475 | Z={EFH 105500 7% iR PR 255 Ex=kdl 363 166.2 529.2
103160211001093 | =T % 105500 7 e R 75 % Eal=kl 344 185 529
103160211001497 | FE3& 105500 i R 2% ex=k] 340 188.6 528.6




EEGHS Fhpa RN ET LG | FREL AR MR B 235K | MAES | EXERS | REUEMS | Z50HR
103160211005010 | RiME 105500 7 G R 755 Eal=kl 347 1816 528.6
103160211001767 | #A4&kHK 105500 Tyt e R 2% ex=k] 340 188.4 528.4
103160211000208 | D& 105500 b e R 2% ex=k] 338 189.4 527.4
103160211000096 | ZEFES: 105500 7 e R 25 % EN=k| 336 190.2 526.2
103160211000172 | 22 105500 7 G R 75 % Eal=kl 350 176.2 526.2
103160211003608 | EE 7S 105500 pslal e R 2% ex=k] 333 192.8 525.8
103160211003613 | /5KpH 105500 7 G R 755 Eal=kl 325 200.4 5254
103160211000476 | #HEFR 105500 Tyt e R 2% ex=k] 367 157.8 524.8
103160211005587 |  EEF| 105500 7 iR R 25 e=k 341 183.2 524.2
103160211005075 | #HER 105500 pilal e R 2% ex=k] 348 175.8 523.8
103160211005110 | #XFP8 105500 7 G R 75 % Eal=kl 338 185.8 523.8
103160211000379 | B3 105500 pslal e R 2% ex=k] 341 182.2 523.2
103160211003422 | ALk 105500 % G R 75 % Eal=kl 354 169 523
103160211001289 |  [kif 105500 i e R 2% ex=k] 339 183.6 522.6
103160211001504 | 3K#5% 105500 Tyt e R 2% ex=k] 339 183 522
103160211003724 | 1&BAZE 105500 i iR R 255 e=k 347 174 521
103160211003986 | EE& 105500 7 iR R 25 e=k 347 174 521
103160211000886 | HER 105500 pslal e R 2% ex=k] 365 154.8 519.8
103160211000281 | B&F 105500 5% w752 e=k 345 174.2 519.2
103160211000479 | FE+H 105500 7 I R 252 EN=k| 333 185.6 518.6
103160211003720 | AREEE 105500 7 e R 755 Eal=kl 337 1816 518.6




EEGHS ZEHE | WEMETWE| #RRELER MR B FI7R | RS | ERERS | RERS | Tt
103160211005555 | BRi=HE 105500 7 G R 755 Eal=kl 336 1824 518.4
103160211003803 | FrEKE 105500 Pfea lim PR 752 Ex=kdl 343 174.8 517.8
103160211005337 | 5K15FH 105500 7 G R 755 Eal=kl 344 1738 517.8
103160211005684 | {8 105500 lal e R 2% ex=k] 326 191.6 517.6
103160211003725 | ¥FEEA0 105500 7 G R 75 % Eal=kl 335 182.2 517.2
103160211005327 | X|ZEE 105500 7% iR PR 255 Ea=ki 342 175 517
103160211003565 | ARSCHE 105500 7 G R 755 Eal=kl 336 179.8 5158
103160211005512 | 3KEH 105500 7 R R 755 Eal=kl 331 1838 514.8
103160211003876 i 105500 5% w752 Ex=kdl 324 190.4 514.4
103160211004594 | B R 105500 7y e R 252 ex=k] 338 176.2 514.2
103160211000149 | 2tk 105500 pslal e R 2% ex=k] 328 185.6 513.6
103160211000953 | RE{H1R 105500 7 G R 75 % Eal=kl 335 1784 5134
103160211001092 | FLEAEAR 105500 7% iR PR 255 Ea=kdl 349 164 513
103160211001779 | #IE 105500 5% w752 Ex=kdl 338 174.8 512.8
103160211001322 | E% 105500 i e R 255 ex=k] 330 182.2 512.2
103160211000342 | RI&EHE 105500 kal e R 2% ex=k] 326 185.2 511.2
103160211003153 | FR4IIE 105500 7 R R 755 Eal=kl 336 1752 5112
103160211005937 | K EMK 105500 Tyt e R 252 ex=k] 337 174 511 SETPNE L o]
103160211003709 | #E3 =& 105500 7% w752 Ex=kdl 342 168.4 510.4
103160211000998 | SEEF 105500 7% iR PR 255 Ead=k 338 171 509
103160211004800 | B&iE 105500 7 iR PR 255 Eg=ki 329 179.4 508.4




EEGHS ZEHE | WEMETWE| #RRELER MR B FI7R | RS | ERERS | RERS | Tt
103160211003781 | *BEREL 105500 7 G R 755 Eal=kl 332 176 508
103160211005568 | #ME 105500 7y e R 252 ex=k] 330 177.8 507.8
103160211003637 | FRiEE 105500 7 s PR 252 Eal=kl 338 168.8 506.8
103160211000197 | 3Ky 105500 % R R 755 Eal=kl 337 169.4 506.4
103160211001573 | »L#kI8 105500 7% iR PR 255 Eg=ki 325 181.2 506.2
103160211003645 | &3k 105500 7 iR PR 255 Ea=ki 333 173 506
103160211000134 | #pfHH 105500 7 G R 755 Eal=kl 327 178 505
103160211001812 | Z=%7 105500 7% iR PR 255 Eg=ki 336 167.2 503.2
103160211003840 | F7REF) 105500 7% iR PR 255 Ex=kdl 325 177.2 502.2
103160211005812 | BiEHi & 105500 7y e R 252 ex=k] 280 163.2 4432  |PEREETITH
103160211005715 | I3 105500 7 Iim PR 752 e=k 275 154.8 4298 |V ERKEBTIT
103160211005336 | 3KkEH 105500 7HF EHHF Eg=ki 377 2114 588.4
103160211000101 B4 105500 HE EEAH Ea=ki 386 202 588
103160211005333 | =1E&EH 105500 7y B c=kl 382 205 587
103160211001718 |  Br&EA 105500 % EHHGF Eal=kl 385 201.6 586.6
103160211001934 | FE3s#0 105500 HBE EEAH Ex=kdl 371 208.8 579.8
103160211001992 | K144 105500 HBE EEAH Eg=ki 367 201.6 568.6
103160211001078 | HH#ETE 105500 HBE EEAH Eg=ki 366 202.4 568.4
103160211003966 | ®XEF 105500 7HF EEHF Ex=kdl 369 198.2 567.2
103160211005447 |  [FZ 105500 % EEHF Ex=kdl 366 201.2 567.2
103160211000428 | &i%3A 105500 7% B Eg=ki 364 202.8 566.8




FERS ZEHE | WEMETWE| #RRELER MR B FI7R | RS | ERERS | RERS | Tt
103160211005085 | &2 B 105500 7HF EEHF Eg=ki 369 195.2 564.2
103160211002047 | kFEX 105500 HBE EEHF Ex=kdl 362 200.4 562.4
103160211001833 | XI;FE 105500 HBE EEHF Ex=kdl 359 202.4 561.4
103160211001949 | =REF* 105500 HBE EEHF Ex=kdl 356 205.2 561.2
103160211004059 | EE 105500 HE EEHF Eg=ki 364 194.8 558.8
103160211003178 | EBAZ 105500 HBE EEHF Ex=kdl 352 205.2 557.2
103160211005099 | A =H 105500 7% B Eg=ki 355 200.8 555.8
103160211002002 | 3K, 105500 HE EEHF Ex=kdl 357 197.6 554.6
103160211001386 | Fr&E 105500 Tyt EIRH 2B 358 196.4 554.4
103160211001762 | A% 105500 HBE EEHF Eg=ki 360 1932 553.2
103160211001773 | #&if 105500 HE EEHF Eg=ki 351 199.2 550.2
103160211001822 | X348 105500 HBE EEHF Ex=kdl 350 199.2 549.2
103160211001025 | FiLHk 105500 HBE EEHF Ea=kdl 361 188 549
103160211001802 | Z=#H# 105500 HBE EEHF Ex=kdl 355 193.2 548.2
103160211004875 | FE® 105500 HBE EEHF Ex=kdl 360 187.6 547.6
103160211003611 2R3 105500 7 BIRHGH Ex=kdl 357 190.4 547 .4
103160211005595 | #EzE 105500 7% B Ex=kdl 352 195.2 547.2
103160211000062 | Z{EiH 105500 HBE EEHF Ex=kdl 353 194 547
103160211005102 | RifF 105500 7HF EHHF Eal=kl 341 203.6 544.6
103160211004170 | =¥ E 105500 HBE EEHF Ex=kdl 348 194.4 5424
103160211005638 | iFFIELH 105500 HBE EEHF Ex=kdl 350 191.6 541.6




FERS ZEHE | WEMETWE| #RRELER MR B FI7R | RS | ERERS | RERS | Tt
103160211001942 | B{E4F 105500 HBE EEHF Ex=kdl 350 191.2 541.2
103160211001979 | ™HBEE 105500 HBE EEHF Eg=ki 350 189.6 539.6
103160211002010 | 3K¥& 105500 HE EEHF Eg=ki 332 207.6 539.6
103160211001892 | E#A%] 105500 HBE EEHF Eg=ki 341 198.4 539.4
103160211002982 | &8 105500 % EHHF Eal=kl 358 181.2 539.2
103160211004209 | kK% 105500 HBE EEHF Ea=ki 349 190 539
103160211000598 | REE 105500 7% B Eg=ki 349 189.8 538.8
103160211004346 | Z=Z=FH 105500 HBE EEHF Eg=ki 340 198.8 538.8
103160211000529 | #Zt 105500 % EEHF Eg=ki 330 208.4 538.4
103160211005053 | =% 105500 7 B Ea=ki 338 200 538
103160211003562 | R EF 105500 7HF EEHF Ex=kdl 353 184.8 537.8
103160211003619 | #%#B3E 105500 7HF EHHF Eal=kl 344 192.8 536.8
103160211004566 | 5% | 105500 i e En +8% | 337 1996 5366 |G
103160211001899 | H£1Y 105500 % EWAF E=k 338 198.4 536.4
103160211001953 | /=3 105500 % EWAF E=k 346 190.4 536.4
103160211001717 | [&E& 105500 % BB Ea=k 337 199 536
103160211001712 | &% 105500 % EWAF E=k 330 205.2 535.2
103160211003160 | Z|fEfE 105500 % EWAF E=k 337 198 535
103160211001912 | E#& 105500 % EWAF E=k 342 192.4 534.4
103160211001783 | =4I 3E 105500 % EWAF E=k 332 201.2 533.2
103160211001946 | RiE& 105500 % BB Ex=k 350 182.8 532.8




EEGHS ZEHE | WEMETWE| #RRELER MR B FI7R | RS | ERERS | RERS | Tt
103160211004064 | #RIHE 105500 HBE EHEAH Ea=ki 338 194 532
103160211003872 |  X14 105500 % EHHGF Eal=kl 338 193.6 531.6
103160211002003 | sk fEEE 105500 7 EHHGF Eal=kl 340 191.4 531.4
103160211001781 | £3% 105500 HE EEAH Ea=ki 332 199 531
103160211001319 | F¥ 105500 HE EEAH Eg=ki 333 1976 530.6
103160211004989 |  #AME 105500 % EHHGF Eal=kl 335 1956 530.6
103160211005552 | FE1E 105500 7HF EHHGF Eal=kl 337 193.6 530.6
103160211005607 | A=E 105500 HE EEAH Ex=kdl 329 200.8 529.8
103160211000278 | S 105500 7HF EEHF Ex=kdl 347 182.4 529.4
103160211005577 | W4T 105500 HBE EEAH Ex=kdl 334 194.8 528.8
103160211000589 | L3EE 105500 HBE EEAH Ex=kdl 336 192 528
103160211002970 | FAFKF 105500 HBE EEAH Ex=kdl 341 186 527
103160211004043 | BB 105500 HBE EEAH Ea=kdl 337 190 527
103160211001914 | F# 105500 HE EEAH Ex=kdl 331 195.8 526.8
103160211001868 | Z=BE 105500 7 B Ex=kdl 320 206.4 526.4
103160211005059 |  #4&&h 105500 A B Ex=ki 335 191.2 526.2
103160211003666 | Z=E 4k 105500 7HF EHHF Eal=kl 325 200.4 525.4
103160211000268 | Z=FH 105500 % EEHF Ex=kdl 332 193.2 525.2
103160211000575 | ff£5H 105500 7% B Ex=kdl 336 188.4 524.4
103160211005061 | ZR#3E 105500 kal EIRH 2B 338 185.6 523.6
103160211000528 | #&&ta 105500 7HF EHHF Eal=kl 332 1912 523.2




FERS ZEHE | WEMETWE| #RRELER MR EER FI7R | RS | ERERS | RERS | Tt
103160211000597 | 1f& 105500 lal EIRH ex=kl 332 190 522
103160211003097 | #hiENS 105500 Tyt EIEHF EN=k| 337 184.8 521.8
103160211001493 | SEBERA 105500 HBE EEHF Ex=kdl 334 186.4 520.4
103160211001759 | EHHEE 105500 HBE EEHF Ex=kdl 324 195.6 519.6
103160211005129 | Ei& 105500 i EIRH 2B 322 197.6 519.6
103160211001582 | &E=E 105500 HBE EEHF Ex=kdl 334 185.2 519.2
103160211003477 | ZExklE 105500 P2 BIEHF Ex=kdl 331 188.2 519.2
103160211005081 | #%&—Mg 105500 P2 BIEHF Ex=kdl 317 2016 518.6
103160211005328 | Fhéxs 105500 7HF EEHF Ex=kdl 331 187.2 518.2
103160211004311 | E#HHE 105500 HBE EEHF Ex=kdl 329 188 517
103160211004876 | #iB% 105500 HBE EEHF Ex=kdl 323 194 517
103160211001803 | Z=#HF 105500 7% B Ex=kdl 326 190.8 516.8
103160211001838 | A% 105500 7HF EEHF Ex=kdl 328 188.4 516.4
103160211001917 | FE= 105500 HE EEHF Ex=kdl 327 189.2 516.2
103160211005508 | M5 105500 kal EIRH ex=k] 320 196 516
103160211001711 | EHEFE 105500 HBE EEHF Ex=kdl 321 194 515
103160211001704 | BE%&%E 105500 HBE EEHF Ex=kdl 330 184.8 514.8
103160211003860 | a5 105500 7HF EHHF Eal=kl 323 1916 514.6
103160211003115 | EWME 105500 HBE B Ex=kdl 323 190.4 513.4
103160211001146 | SE#] 105500 HE EEHF Ex=kdl 320 193 513
103160211002077 | 43 105600 Spolcd Ex=k 367 205.6 572.6




EEGHS ZEHE | WEMETWE| #RRELER MR B FI7R | RS | ERERS | RERS | Tt
103160211003894 | 3K 105600 Spolc Ex=k 363 199.2 562.2
103160211002060 | B IE 105600 Rz E=kdl 353 204 557
103160211002062 | Z=HHZE 105600 Rz Ea=kdl 353 200.8 553.8
103160211004708 | HLHN 105600 Rz Eal=kl 362 190.8 552.8
103160211005946 | F4F 105600 Spolc Ex=k 363 189.6 552.6
103160211003209 | 3K¥ 105600 Spolcd Eal=kl 359 187.6 546.6
103160211005340 | PFHEEZR 105600 Rz e =kl 350 193.2 543.2
103160211003123 | FEFix 105600 Rz Ea=kdl 355 186.8 541.8
103160211005429 | H3E%5 105600 Spolc Eag=kdl 360 180.8 540.8
103160211003427 |  FEfE 105600 Rz Eal=k 346 192 538
103160211000837 | Z=igR 105600 Rz Ea=kdl 343 192.8 535.8
103160211004621 |  #&XF} 105600 Spolcd Ex=k 338 197.2 535.2
103160211003428 |  EM 105600 Rz eal=kl 344 189.6 533.6
103160211000309 | EF#= 105600 Rz Eal=kl 345 187.2 532.2
103160211000779 | FZ& & 105600 Rz E=kdl 349 179.6 528.6
103160211003208 | =A 105600 Spolc Ex=k 346 182.4 528.4
103160211002994 | kMK 105600 Rz Eal=k 334 192.8 526.8
103160211000070 | AFE 105600 Rz Ea=kdl 333 191.6 524.6
103160211002992 | #A%IE 105600 Rz E=kdl 332 191.6 523.6
103160211004753 | [riBiE 105600 Rz Eal=k 329 193.6 522.6
103160211005556 | farMzE 105600 Rz Eal=k 329 193.6 522.6




EEGHS ZEHE | WEMETWE| #RRELER MR B FI7R | RS | ERERS | RERS | Tt
103160211003210 | 3k 105600 Spolc Eal=kl 331 191.2 522.2
103160211002991 | E1&R1Y 105600 Rz Eal=k 336 185.6 5216
103160211000392 | X% 105600 Rz Eal=kl 344 176.4 520.4
103160211003423 | #HZ5T 105600 Rz E=kdl 326 194 520
103160211005192 | & 105600 Spolc Ex=k 334 183.2 517.2
103160211002056 | 3REH 105600 Rz Ea=kdl 328 189.2 517.2
103160211002072 | 7+4A83 105600 HhZ5% Ex=k] 331 185.6 516.6
103160211000310 | ZFEZ 105600 HhZ5% Ex=k] 321 194.4 515.4
103160211002075 | F# 105600 Spolc Ex=k 330 184.8 514.8
103160211003200 |  #L& 105600 Rz eal=kl 325 188 513
103160211000313 | EXK 105600 Rz Ex=k 327 185.6 512.6
103160211004542 |  B&iE 105600 Spolcd Ex=k 319 193.6 512.6
103160211002066 | AZE 105600 Rz Ea=kdl 316 192.8 508.8
103160211003204 | XIXFH 105600 Rz E=kdl 319 188 507
103160211002074 | EEWK 105600 Rz Eal=k 315 192 507
103160211005849 | FEIHn 105600 Rz E=kdl 312 194.4 506.4
103160211004471 |  SEAA 105600 Rz Eal=k 313 192 505
103160211004754 | AHE 105600 Rz Ea=kdl 324 179.2 503.2
103160211005341 | EHE 105600 HhZ5% Ex=k] 313 189.2 502.2
103160211004365 | BEEIE 105600 Rz E=kdl 329 173.2 502.2
103160211003889 |  XI3% 105600 Rz Eal=k 334 168 502




EEGHS ZEHE | WEMETWE| #RRELER MR B FI7R | RS | ERERS | RERS | Tt
103160211005641 | ELH#E 105600 s Ex=kdl 317 183.2 500.2
103160211003893 | RBAE 105600 Rz Ea=kdl 313 186.4 499.4
103160211003424 | #AREAR 105600 Rz Eal=kl 309 190.4 4994
103160211005095 | X% 105600 Rz E=kdl 318 180 498
103160211004499 | EHLT 105600 Rz Eag=kdl 318 179.2 497.2
103160211003051 | =ik 105600 Rz £ H 312 183.6 495.6
103160211000923 | #r&ss 105600 Rz E=kdl 309 186 495
103160211005798 | hiEE 105600 Rz Ea=kdl 306 188.8 4948
103160211003212 |  [i% 105600 Spolc Eal=kl 311 182.8 493.8
103160211005346 | EIF 105600 Spolc Ex=k 312 181.6 4936
103160211004364 | X4E(% 105600 Rz Eal=k 313 180.4 4934
103160211002079 | BE=ZE 105600 Rz Eal=k 308 184 492
103160211000924 | #E&E1E 105600 Rz Eal=k 310 179.6 489.6
103160211003430 | KEX 105600 75 Ex=k] 301 188.4 489.4
103160211003888 | itH 105600 Rz eal=kl 316 172.8 488.8
103160211003099 |  #%f 105600 Spolc Eal=kl 305 183.6 488.6
103160211005279 | EPEHE 105600 Rz E=kdl 303 184.8 487.8
103160211002059 | £ %1% 105600 Rz £ HH 304 181.6 485.6
103160211004707 | BASHE 105600 Rz E=kdl 312 173.6 4856
103160211003199 | ®H== 105600 s E=kdl 300 182.8 4828
103160211004581 | &% 105600 Rz Ea=kl 300 178.8 478.8




